Rezultati tihih vaj ANTENE IN RAZSIRJANJE VALOV

Priimek in ime 1l.vaja 2.vaja Vsota |0cena
23.10.2012 6.11.2012
1 |AjdiSek Joze 6 6 12 67%
2 Bavdek Matej 3 4 7 11%
3 Berlec Matej 5 6 11 56%
4 Celar Ales 5 8 13 78%
5 curis Tomislav 2 4 6 0%
6 |GerkSicC Katja 5 7 12 67%
7 |GodejSa Matic 3 6 9 33%
8 Golob Teja 1 5 6 0%
9 HasanovicC Damir 2 3 5 0%
10 |Hocevar Joze 2 6 8 22%
11 |Jurjevic Jure 4 7 11 56%
12 |KoSmerl Joze 4 5 9 33%
13 KovSe Simon - 5 5 0%
14 |Krsteski Kice 4 - 4 0%
15 |KulasSic Niko 2 - 2 0%
16 |Medle Blaz 3 - 3 0%
17 |Milojevic Nikola 2 7 9 33%
18 |Pekevski Bojan 1 5 6 0%
19 |Rujanoska Brankica |1 6 7 11%
20 |Rzarova Tatjana 5 4 9 33%
21 |Stanic Simon 5 10 15 100%
22 |Stanovnik Karel 3 5 8 22%
23 |Salic¢ Primoz 3 7 10 44%
24 |TomazicC Dejan 3 4 7 11%
25 |TursSic Ana 1 8 9 33%
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